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1. Poab nucuuniunsl «IIpodeccnonajibHas NOAroTOBKA HA AHIJIMICKOM fA3bIKe» B (OPMUPOBAHMU KOMIETEHUHI BHIMYCKHUKA:

DJleMeHT 00pa3oBaTeJbHO Kon Cocrapisiloniue pe3y/ibTaToB OCBOCHHUS (1eCKPHUITOPbI KOMIIETEH M)
NnporpaMmsl (IMCHHUILIAHA, Cemectp | KommeTeHUWH HanvenoBanne KoMIIeTeHIHA HauMeHoBaHUE
npaktuka, THA) Koz
CriocoGeH MpUMeHsITh VK(Y)-4B1 BrageeT criocoGHOCTBIO HCTIONIB30BATh COBPEMEHHBIE KOMMYHHKATHBHBIE TEXHOJIOTHUH Ha
COBpPCMCHHbBIC (¥)-4. ypOBHE NMPO(HECCHOHABHOTO W aKaJJEeMUIECKOTO OOIICHHS, B TOM YHCIIC Ha HHOCTPAHHOM SI3bIKE
KOMMYHHUKATHBHBIE
VK(Y)-4 TEXHOJIOTHH, B TOM YHCIIC Ha VK(Y)-4.Y1 YMeeT NpUMeHSITh COBpEMEHHbIE KOMMYHHKAaTHBHBIE TEXHOJIOTHI B chepe MpohecCHOHATHHOTO
WHOCTPAHHOM (-BIX) SI3BIKE (- 0OIIeHNs, B TOM YHCIIe Ha HHOCTPaHHOM SI3BIKE
ax), UIsl aKaJIeMUYeCKOTo 1 .

HpO(beCCHOHaJTbHOFO yK(Y)-431 3HaeT OCOGBHHOCTI/I COBPEMCHHBIX KOMMYHHUKATHBHBIX TEXHOJIOTUH IIPU MEXITYHAPOJHOM
Ipodeccuonanbnas B3aUMOIEICTBHS 1po¢eCCHOHABHOM 00LIEHUH
TOATOTOBKA HA 1,2 OIIK(Y)-3.B1 | Bumameer criocoGHOCTBIO UCIIONB30BAHUS PYCCKOTO W HHOCTPAHHBIX SI3bIKOB HA YPOBHE
AHIVIHACKOM sI3bIKe CrocobrocTh TIPOdeCcCHOHANEHOTO U aKaJIeMHYECKOTO OOIIeH s

AKIIEHTHPOBAHHO = =
(OpPMYITHPOBATH MBICTD B OIIK(Y)-3. V1 | IloHnmaer pycCKHif  HHOCTPAHHBIE A3bIKH B NIPEAenax Npo(ecCHOHAIbHOM TeMAaTHKU; yMEET
OITK(Y)-3 | ycrHoii 1 michMenHoit popme TOTOBUTH U IPEJICTABIISATH YCTHBIE coo6uv1eHI/m, TIICaTh COOOIICHUS, OTUETHI, CTaThH, TE3HCHI,
Ha FOCY1apCTBEHHOM S3bIKE pedepatel B 061acTu npodeccHOHANBHO AeSITENBHOCTH, B TOM YHCIIE€ HA HHOCTPAHHOM SI3bIKE
Poccuiickoit ®eaepatyn n Ha OIIK(Y)-3.31 | 3Haer 0cOOEHHOCTH NPO(ECCHOHATBHBIX U HAYYHO-TEXHUYECKHX TEKCTOB, 0(OPMICHHS
MHOCTPAHHOM SI3bIKE JOKyMEHTalliH, KOMMYHHKAaTHBHOTO TIOBEJCHHS IPH NPO(ECCHOHATIBHOM OOIIEHNIH, B TOM
YHCJIe HA MTHOCTPAHHOM $SI3bIKe

2. Iloxa3aTejau M MeTOIbI OLlCHUBAHUSA

Ilnanupyemble pe3yJbTaThl 00y4YeHHs 110 AHCHUILIHHE Kon HaumeHoBanue pa3zaeia THCHUIIHHBI MeTtoast
Kopn HaumeHnoBanue KOHTPOJIHPYeMOii OLlEHUBAHUS
KOMIeTeHIHH (oneHOYHBIE
(nm _ee yacTh) MepONpHUsATHS)
PI-1 YuTaTh ¥ TOHUMATh HOPMATHBHO-TEXHUYECKYIO OIIK(Y)-3 Pasznen ql Hoxcapf{aﬂ 6e3omacHocTs, Paszen 2. [IponsBoacTBeHHAs 6e30nac;0cn,, l;a:»z[en 3. | Tecr, 3ananue,
€3BbIYaifHbIe CUTYAIUH IIPUPOIHOTO M TEXHOT€HHOTO XapakTepa, Pasnen 4.
I[OKyMeHTaIlI/I‘I‘O 1 HayqHY!O JINTEP aTypyuB obmactu 3K0J'IOFI/IIilCCKaﬂ 6e30nac1—1(3/cn>, Pasrjle}; 5. CucTeMsl ynpasieHus 6%30na121-10cn>10, Paszen 6. peq)epaT,
TeXHOC(bepHOI/I 06e30MMacHOCTH Ha aHTTHHCKOM S3BIKE 3arps3HeHue Bo3ayxa v Boabl, Paszen 7. ['mobanbsHble 3kosorndeckue npodnemsl, Paznen 8. KOHTpPOIIbHAA
IlepcrieKTUBBI Pa3BUTHUS PHEPIeTHUECKUX PECYPCOB. pa60Ta
P/I-2 Hcronb30BaTh CHENUATM3UPOBAHHBIE U HAYYHBIE VK(Y)-4 Paspen 1. Ioxapuas Gesonachocrs, Pasnen 2. Ipoussoacreennas GesonacHocts, Pasnen 3. | Tecr, 3amanue
CHCTEMbI, 6a3bl JAHHBIX, CIT OBApH ISl TIOMCKA K YpesBbluaiiHble CUTYAlMU IPUPOJHOTO U TEXHOI€HHOTO Xapakrepa, Paszen 4.
o Dkounornyeckas 6e3omnacHocTb, Pasmen 5. Cucremsl ynpaBineHus 6e30macHocTbio, Pasyen 6.
nepesoaa I/IH(I)OpMaI_II/II/I B 00nactu TCXHOC(l)epHOI/I 3arpsisHeHue Bo3ayxa u Bojbl, Paszien 7. ['obanbHble 3Koorndyeckue npodiemsl, Paznen 8.
0e30IacHOCTH IlepcrieKTUBBI Pa3BUTHUS DHEPIeTHUECKUX PECYPCOB.
PZ[-S Bunaners crieriaibHbIMHU TEpMUHAMH B o0acTu yK(y)-L].’ Pazpnen 1. Hoxcap\x:xaﬂ 6e3omacHoctb, Pasznen 2. [IpousBoacTBenHas 6e3onacHocTs, Pazaen 3. Tecrt, 3aganue,
TexHOC(epPHOI G€30IaCHOCTH Ha aHIJIMHCKOM S3bIKE OIIK(Y)-3 “IpesBhriaiinbic CHTyalH IPHPOIHOrO H TEXHONCHHOIO XapakTepa, Paszie 4. KOHTPOJIbHAS
Dkosoruyeckas 6e3omnacHocTb, Pasgen 5. Cucremsl ynpaBineHus 6e30macHocTbio, Pasyen 6.
3arpsisHeHue Bo3ayxa u Boabl, Pasznen 7. ['mobanbsHbIe 3Kosornyeckue npodiemsl, Paznen 8. pa60Ta
IlepcreKTHBBI pa3BUTHUS DHEPTETHIECKUX PECYPCOB.
P-4 [peacTaBnsaTe myOIUYIHO PE3YJILTATHI CBOCH YK(Y)-4 Pazpnen 1. Homapf{aﬂ GesonacHocts, Pasnen 2. IpoussoacTeenHas GesonacHocts, Pasnen 3. | Tecr, 3aqaHue,
TpO(ECCHOHATBHOM AESTENBHOCTH Ha aHIHICKOM UpesBbryaifHble CHTyalluH IPUPOAHOTO M TEXHOTEHHOTO XapakTepa, Paznen 4. npeseHTaLms
Okororuueckas 6e3omacHocTb, Pazgen 5. CucteMs! ympapienns 6e30nacHocTbIo, Pazaen 6.
SI3BIKE 3arpssHeHue Bo3ayxa u Bojbl, Paszen 7. ['obanbHblie 3Koorndyeckue npodiemsl, Paznen 8.
IlepcrekTHBBI pa3BUTHUSI SHEPTETHYECKUX PECYPCOB.




3. HIxana ouneHUBaHUs
[Topsimox opraHW3aly OIEHUBAHUS PE3yJIbTATOB OOYYCHHS] B YHHBEPCUTETE PETIAMEHTUPYETCS OTIEIbHBIM JOKAJIBHBIM HOPMATHBHBIM aKTOM —
«Cucrtema oIeHUBaHUS pe3yiIbTaTOB 00yueHUs: B TOMCKOM monuTexHU4eckoM yHuBepcuteTe (Crucrema olleHHBaHHS)» (B ACHCTBYIOLICH peAaKIUm).
Hcnonp3yercss OGanmnbHO-pEHTHHrOBas CHUCTeMa OIEHUBAHUSI Pe3yabTaToB 0O0ydeHHs. MToroBas oreHKa (TpaaullMOHHAs W JIMUTEpPHAs) 1O BHIAM
yueOHoi nesrenpHOocTH (M3yuenue mucumiuinH, YMWPC, HUPC, xypcoBoe mnpoeKkTHpoBaHUE, MPAKTHUKUA) OMPEACISETCS CyMMOW O0ajioB Mo
pe3yibTaTaM TEeKYIIETo KOHTPOJIS U MPOMEXKYTOUHOM aTTecTaiuu (UTOroBas peTHHroBas oueHka - MakcumyM 100 Gamos).

PaCHpeI[CJICHI/IC OCHOBHBIX H AOIIOJTHUTCIBHBIX 0ajJIoB 3a OLCHOYHBIC MCEPOIMPUATUA TCKYUWCTO KOHTPOJIA U HpOMe)KYTO‘IHOf/'I aTrecraiiuu
YCTaHAaBJIMUBACTCA KAJICHAAPHBIM peﬁTI/IHF-HJIaHOM JUCHUILINHBI.

[Ikana ay1st OUEHOYHBIX MEPOIIPUSITUIA U 3a4eTa

Crenenn
copmupoBaHHOCTH Bann CooTBeTCTBHE TPAAUIMOHHOI OleHKe Onpenenenne oneHKH
pe3yJIbTaToB
o0y4eHusl
90% + 100% | 90+ 100 «OtamaHO» «3aurenoy» | OTIMYHOE NOHMMAaHKE IPEAMETa, BCECTOPOHHNE 3HAHUS, OTINYHBIC YMEHHS U BIIAZCHUE OIBITOM IPAKTHIECKOM

JIeATeIbHOCTH, HEOOXOAUMBIE Pe3yJIbTaThl 00yUeHUsI CHOPMHUPOBAHBI, UX KAYECTBO OLIEHEHO KOJINYECTBOM
0ayI0B, OJIM3KUM K MaKCHMaJTbHOMY

70% + 89% 70 + 89 «Xopomo» JlocTaTouHO NMOJTHOE TIOHUMAaHUE IPEAMETA, XOPOILIHE 3HAHNSA, YMEHHS U OIIBIT IPAKTHYECKON AEATENBHOCTH,
HEOOXOANMBIE pe3yIbTaThl 00y4YeHus! chPOPMUPOBAHBI, KAUECTBO HHU OJJHOTO U3 HUX HE OLIEHEHO MUHUMAaJIbHBIM
KOJINUECTBOM OaJLIOB

55% + 69% 55+69 «Y 10BIL.» [IpueMiemMoe MOHMMaHUE NIPeaMETa, YAOBIETBOPUTEIbHBIC 3HAHNS, YMEHHUS U OIBIT NPaKTUYECKON

e TeNIbHOCTH, HEOOXOAMMBIE pe3yJIbTaThl 00y4YeHUs chOPMHUPOBAHBI, KAYECTBO HEKOTOPBIX U3 HUX OLIEHEHO
MHUHHUMAaJIbHBIM KOJIMUECTBOM OAJLIIOB

0% + 54% 0+54 «Heynosi.» «He 3aureHo» | Pe3ynprarsl 00y4eHHs HE COOTBETCTBYIOT MUHUMAIIBHO IOCTATOYHBIM TPEOOBAHUSIM

4. TlepeyeHb THIOBBIX 3aJaHUH
1 cemecTp:

OlleHO‘lele MeponpUATHSHA [lpnMepu THIOBBIX KOHTPOJbHBIX 3aIaHui

1. Tect Bomnpocsr:

1. Read fire definitions. Which one is more suitable?
a) Fire is an exothermic chain reaction between oxygen and fuel.
b) Fire is a chemical chain reaction in which fuel, heat, and oxygen are combined.
c) Fire is a chemical chain reaction with no flame.

2. Fireisa...?




OueHoYHbIe MEPONPHSATHS

IIpuMepbl THIOBBIX KOHTPOJIbHBIX 3aJaHMI

a) Burning gas or vapor seen as a flickering light
b) Sudden outburst of flame and heat as a result of fuel ignition.
C) A rapid chemical change that releases heat, light and is accompanied by flame.
d) Thermal energy that transfers agitation from molecule to molecule.
3. Find an “alien” word in each set:
a) fire, ignition, extinguishment, flame, combustion
b) exclude, raise, remove, take away
C) sustain, stop, go out
d) air, fuel, oxygen
4. Choose the right set of fire tetrahedron components.

1. chemical reaction 2. heat 3. chemical reaction
oxygen fuel heat
heat oxygen flame
air chemical reaction fuel
5. A class "A" fire is composed of fuels.
a) Liquids
b) Solids
C) Gases
d) Metals
6. Flash Point is....?
a) The lowest temperature at which a fuel will give off sufficient vapor that will ignite upon

contact with a flame but will not sustain combustion

b) The lowest temperature at which a fuel will give off sufficient vapor that will ignite upon
contact with a flame and continue burning

C) The lowest temperature at which a fuel will become volitile

d) All of the above

7. Aclass "A" fire is composed of fuels.
a) Liquids
b) Solids
C) Gases
d) Metals
8. Breathable air contains 31% oxygen
a) True

b) False




OueHoYHbIe MEPONPHSATHS

IIpuMepbl THIOBBIX KOHTPOJIbHBIX 3aJaHMI

9. What is the unit used to measure the amount of electrical current?
a) Ampere
b) Volt
c) Watt
d) Ohm
10. Path of the shocking current is most dangerous if it flows through ...
a) heart
b) head
¢) lungs
d) legs
11. Which of the following will result in the lowest resistance and greater risk of injury when shocked?
a) Dirty skin
b) Dry skin
c) Wet skin
d) Thin skin
12. The minimal threshold for the let-go current is ...
a) 1mA
b) 6 mA
c) 12mA
d) 24 mA
e) 100 mA
13. What does PPE stand for?
a) Protective Preventative Equipment
b) Personal Protective Equipment
C) Personal Preventative Equipment
d) People's Protective Equipment
14. Which of the following is dangerous factor?
a) Ultrasound

b) Electric current
c) Noise
d) Electromagnetic field
15. Which of the following is harmful factor?
a) Electric current

b) Noise




OueHoYHbIe MEPONPHSATHS

IIpuMepbl THIOBBIX KOHTPOJIbHBIX 3aJaHMI

C) To be struck by falling materials

d) Moving parts of machinery
[Tpe3eHTanus [ToxroroButh npe3eHTanuio Ha Temy « My scientific worky.
3ananue Bomnpocsr:

1. Read the text “Safety Engineers”. Complete the sentences with the words: hazards; cause; devices;
safe; safety; injury; accidents; fire.

1. Safety Engineers make sure workplaces are 1) :
2. Safety Engineers inspect buildings and machines for 2) —and safety
violations and recommend 3) features in new processes and products.
3. Safety Engineers investigate 4) to determine the 5)

and how to keep them from happening again.
4. Safety Engineers design special safety 6) to protect workers
from 7) when operating machines.
5. Safety Engineers specialize in 8) prevention or in product
safety.

2. Read the text “English for safety engineers — English for specific purposes”. Choose the correct
answer for the following statements.
1. The text is addressed to...
A) house owners.
B) safety engineers.
C) teachers.
D) architects.
2. The purpose of the author is to inform ...
A) about the importance of learning English for Specific Purposes.
B) how to prevent accidents in work environment.
C) how to get good job in the international organization.
D) what types of activities the job of a Safety Engineer includes.
3. Which of the following statements is false?
A) The job of a safety engineer requires the knowledge of the state-of-the-art in the
safety, which is conditioned by a good command of English.
B) Safety engineers are often required to read the specialized texts in English.
C) English language does not used in the international organizations and scientific
publications in engineering field.




OueHoYHbIe MEPONPHSATHS

IIpuMepbl THIOBBIX KOHTPOJIbHBIX 3aJaHMI

D) The very practical tool for learning English for Specific Purposes is reading technical
literature in a foreign language.

3. Read the text “Methods of fire extinction”. Match Russian names for extinction methods from A for
English equivalents from B.

A B

1. oxnaxknenue 1. inhibition of a chemical reaction
2. m3omsiMs (Hampumep, IeHO) 2. starvation

3. TylueHHUe 3a cuer orpaHnyeHus roprouero 3. cooling

4. XUMHYECKOE TOPMOYKECHHE PEaKIHN 4. blanketing (e.g. with foam)

4. Read the text “Combustion process”.
4.1. Match the words with similar meanings.

1) to evolve A) material

2) incipient B) speed

3) vigorously C) to remove

4) to happen D) to react with oxygen
5) substance E) starting

6) to eliminate F) strongly

7) combustibility G) to give off

8) fire H) flammability

9) to oxidize I) combustion

10) rate J) to occur

4.2. Match the words to the definitions.

1) fuel

2) flame

3) fire

4) oxygen
5) fire
extinguisher

A) the burning gas of a fire appearing as a tongue of light

B) the physical matter of which a thing consists

C) a chemical element

D) the grey, white or black gas that is produced when something is burning
E) a metal container with water or chemical element inside for putting out
small fires

6) chain reaction  F) any material that produces heat or power when it is burnt

7) smoke

8) substance

G) a chemical chain that forms products which themselves cause more
changes and new products
H) able to begin burning easily




OueHoYHbIe MEPONPHSATHS

IIpuMepbl THIOBBIX KOHTPOJIbHBIX 3aJaHMI

9) stage I) a period or level in a process of development
10) combustible j) the flames, light and heat, often smoke that are produced when something
burns

5. 3aganue ansa npaktuueckoro 3ausaTus « Watertreatmenty»
JlaliTe mepeBo CI0B U CIIOBOCOYETAHMI:
1 Screening
2 Grit removal
3 Primary clarifier
4 Primary sludge
5 Sludge thickening
6 Aerator
7 Activated sludge
8 Mixed liquor
9 Anaerobic digestion
10 Dewatering
11 Disinfection
12 Oxidation ditch

6. Calculation of the air exchange.

In the work room with volume V the number of people N are working with an average productivity a.
They use paint based on acetone for painting some items and walls for what manual and mechanized
equipment is used. There are some sources of heat in the work room such as equipment of power Peq
and lighting system of fluorescent lamps of power Pfl.

The work room has the number of windows M, directed northward; the size of window is 2.5x1.75 m;
the type of window is double glazing and wooden frames.

Calculations should be carried out for the cold period of year.

Task: Calculate the required air exchange and determine the air exchange rate for removing: 1)
evaporations of solvent; 2) carbon dioxide released by humans; 3) excess heat.

Ne Paint N, \ Locality Py Py Category of M,
number of [m3] [kwW] [kwW] work number of
people windows
1 |Colorless varnish, 1 100 Villages 10 0.5 i 2
painting with a brush




OueHoYHbIe MEPONPHSATHS IIpuMepbl THIOBBIX KOHTPOJILHBIX 3a1aHHIi

Pedepar Tematuka pedeparon: O030p IUTEpATYphl HA AHTTUHCKOM SI3BIKE [0 TEME Hay4YHO-UCCIIeIOBATEIBCKOM
paboThI.
Koutposnbhas pabota Bomnpocsr:
1. Match the words to the definitions
1) fire A) able to begin burning easily
2) fire extinguisher | B) covering something completely with a thick layer
3) fuel C) the burning gas of a fire appearing as a tongue of light
4) flame D) connected to a source of electrical power
5) smoke E) a metal container with water or chemical element inside for putting out small fires
6) blanketing F) the grey or black powder that is left after something has burnt
7) ash G) any material that produces heat or power when it is burnt
8) chain reaction H) the flames, light and heat, often smoke that are produced when something burns
9) live 1) a chemical chain that forms products which themselves cause more changes and new products
10) combustible J) the grey, white or black gas that is produced when something is burning

2. Mach the words to the Russian equivalents

1. combustion A neHa

2. fire B. roproYee, TOILTUBO

3. flammable C. OXJIAKICHUE

4, fuel D. MPEIOTBPAIATh

5. ignition E. paznararbest

6. flame F. 00eCTOUYCHHBIH

7. smoke G. enHast peaKIysi

8. chain reaction H. rOpeHHe

9. fire extinguishing method . METO]I TYIICHHUS OTHS

10. foam J. TOPIOYHIA

11. blanketing K. OKHCJIMTEIDh

12. live L. OTOHb, TOXKAP

13. electrically dead M. HAXOJSIIHICS IO/ HAIIPsDKEHUEM
14, to decompose N. JIBIM

15. to prevent 0. TIamst

16. cooling P. 3aKUTaHUE, BOCIUIAMEHEHUE
17. oxidizer Q. HOKPBITHE, IOKPOB

3. Translate the sentences from English into Russian:
1) Safety engineers monitor the general work environment, inspect buildings and machines for
hazards and safety violations, and recommend safety features in new processes and products.




OueHoYHbIe MEPONPHSATHS

IIpuMepbl THIOBBIX KOHTPOJIbHBIX 3aJaHMI

Safety engineers design special safety clothing and safety devices to protect workers from injury
when operating machines.

2) Every branch of science and every profession have their own language for communication,
and safety engineering is certainly not an exception. Safety engineering has extensive, unique
and specific terminology.

3) English language is used in the vast majority of international organizations and scientific
publications in engineering field; therefore, most engineers whose native language is not English
would experience difficulties in applying professional terminology if they lack a sound
knowledge of specific terminology.

4) The fire triangle identifies the three needed components of fire: fuel, heat and oxygen. Fire
will burn until one or more of the components are removed.

5) Combustion can be defined as an exothermic chemical reaction between some substance and
oxygen. Combustion consists of chain reactions involving free hydrogen atoms, H2, hydroxyl
free radicals, OH, and free oxygen molecules.

6) Flammable limits apply generally to vapors and are defined as the concentration range in
which a flammable substance can produce a fire or explosion when an ignition source (such as a
spark or open flame) is present.

7) Fire prevention - The elimination of the possibility of a fire being started.

8) Fire protection - Basic tools of engineering and science to help protect people, property, and
operations from fire and explosions.

9) Flash point - The lowest temperature at which a liquid can form an ignitable mixture in air
near the surface of the liquid. The lower the flash point, the easier it is to ignite the material.

10) There are 4 stages of a fire. These stages are incipient, growth, fully developed, and decay.

4. The fire tetrahedron requires the following items...

a) heat, fuel, nitrogen and oxygen
b) heat, oxygen and a chemical chain reaction
C) fuel, oxygen, nitrogen, and fire

d) heat, fuel, oxygen, fire and a chemical chain reaction

2 cemecTp

OneHo4Hble MEPONIPHATHS

“pl/lMepLI THIIOBBIX KOHTPOJIbHBIX 33}13}“/"7[

1. Tect

Tect WATER POLLUTION/ENERGY




1.CoetuHNTE NPABWIBHO N1EPEBO/IBI C AHIJIMACKUMH BbIPAXKEHUSIMU.

. Sight of rubbish

A. CiuBathcst (OBITH CITUTBIM)

. Routine tanker transport operation

B. HOBC@I[HGBHEIS[ OKCIUTyaTalyrsa TAHKCPOB

. To get flushed out

C. OcTaHKH 4eJI0BEUECKOM KU3HENEATENBbHOCTH

. Demanding by law

D. Ilotpe6oBaB OT IMEHHU 3aKOHOAATEITHCTBA

. To handle ballast water

E. ncnonp3oBarn BOAYy, KOTOpad ObLTa B KadyecTBe Oajuracta

. Exploiting the fact

F. Bepxnmii cnoii

. Extent of pollution

G. Pactumpenue 3arpsi3HEHUS

. Bottom layer

H. Hcnonb3yst ToT daxr, 4to

OO NO|OBRWN -

. Separate water ballast tanker

I. Tankep CrIpOEKTUPOBAHHBIN C PA3IEIbHBIM Pa3MELICHUEM
BOJAIBI Jyis1 Oaiacra

. Pressure on the oil pocket

J. BeiMazaHHble HE(THIO TIOJIECHH

. Natural leak

K. EctecTBeHHas yTeuka

. Black-coated seal

L. JlaBnenne Ha HeTECOOPHUKH

. Afterwards the massive bill

M. OIpOMHBIe CUCTA IMOJIYYaCMBbIC BIIOCJICACTBUU

. Frantic clean up efforts

N. IIponukars U3 paciieinnH, 00pa30BaBIINXCS HA
TTOBEPXHOCTH

15.

To get mixed into

O. Bozaa 1 HedTh HE CMEIIMBAIOTCA APYT C APYTOM

16.

Water and oil separate

P. OnpaBapiBaTh cTOUMOCTH HEPTH

17.

To originate from cracks in the bottom

Q. 'eponveckue yCHIHS IO OYMCTKI

18.

To be worth the nefty price tag

R. CmemmBatbest (OBITh CMEIIAHHBIM)

2. BeiOepuTe npaBUIIbHBIE 10 CMBICITY CJI0BA MJIM BHIPRKEHHUSL

1.The oceans are so incredibly big that our impact on
them has been astoundingly

insignificant

important

considerable.

2. The lumps of oil are insignificant.
relatively
few
3. It is estimated that in 1985 60 percent of the marine sources of oil
about 40 percent pollution came from the routine
20 percent tanker transport operation.
| 4. It is estimated that in 1985 | 40 percent. | came from regular oil spills of the




about 20 percent

5 percent

kind we see on TV

5.0n the subject of ocean pollution, it is traditional to

quote

Thor Heyerdahl

Charles Darvin

3.Bri0epuTe npaBWIbHBINA aHTIIMMUCKANA IEPEBOJ CIIOBA WK (pasbl

To traverse Mycop Oil slick MOCITIE/ICTBUS
Rubbish Sea lane

Oil lump Conseqguence

Wellspring VYcThe CKBRKUHEI |, Community Pa3nmuB Hepru
Indispensable caMmou3uB HedTH Qil spill

Filtration plant Qil seepage

Impact [MopasurensHO Sediment erosion Pa3MbiBaHHE OCAI0UHOM
Astoundingly Ballast MIOPOJIBI
Compound Oil remnant
4. BpiOepuTe NpaBUIIBHBINA PYCCKUN SKBUBAICHT
Nitrogen A30THCTHII Celery Pemrarscst
AzoT Cenbaepeit
Kareropuuecku Canar
consequence ITocnencraue Riparian IIITAHAT
Pe6enox Pacnonarars
MHTEpBAJIaMU
Y aymenue [TpubpexHbIi
To Inhibit Ype3MepHBIN Wetland 3abonoueHHas
TEpPUTOPUS
3ampenarb MOTJIONIECHHE
paspemiarb BricymienHas 3emiist

5. BeiOepy npaBUIIBHBINA aHTIMHACKUA BapHaHT

Cost

Ought

1.Bo300HOBIIsIEMBIH

conventional

Should

2. TpaIIMOHHBIN




Renewable hindsight
3. Fossil fuel OTX0/1bI 4 Exemption CyO6cuamu
Hckonaemoe TOImBo OcBobosxeHne oT
HAJIOTOB
CwmepTenbHbIi O0arare HAJIOTOM
Mining 5. loObrua emission 6.Brmyck
Hazard Similar
Tax code To quantify
7.Competitive KOHKYPEHTHBIH 8.Exemption aJICKBaTHO
Hckonaemoe TOImBo OcBobosxeHne oT
HAJIOTOB
CTOUMOCTD JIOTDKEH

6. Haiinqure nmpaBuibHbBIE IEPEBOJIBI BRIPAKEHUH, TPUBEICHHBIX B IPABOH KOJIOHKE:

. Similar considerations

1. To focus on the fact 1. orxonpl

2. Negative social cost 2. CMEpTENbHBIN PHCK

3. Fossil fuel use 3. HeCUaCTHbIC CITyYaH Ha MPOM3BOICTBE

4. Waste product 4. Bech MyTh HAYUHASI OT

5. The mortal risks 5. 00paTHTh BHUMaHHUE Ha TOT (haKT

6. Occupational hazards of production 6. CTOMMOCTh HETATHBHOT'O COIMAILHOTO BO3ICHCTBHUS
7. All the way from 7. UCTIONb30BaHN € HCKOMAEMOT0 TOTTUBA

8. Tax codes 8. HAJIOTOBBIN KOJIEKC

9

9. nogo6HbIe cCOO0paKeHuUs

10. To drop somewhat in price

10. TeM HEe MEHEE I10 OLIEHKAM

11. It should however also be added

11. o

12. There is still quite a bit of uncertainty

12. pacxoasl Ha TPOU3BOJCTBO M BBIMYCK MPOIYKIIUU

13. Nevertheless, it is estimated

13. 6610 OB HAMHOTO (P PEKTUBHEE

14. It is unclear whether it is necessary

14. ecTb ente HEOOIbBINAA 1011 COMHEHUS

15. It would still be much more effective

15. CHU3UTH CTOMMOCTB 4ETro-1100

16. Costs in production and emissions

16. HESICHO HEOOXOMUMO JIU

17.up to

17. cnegoBaiio ObI OJHAKO TAKXKE T00aBUTH

7. ComocTaBbTe TNEPECBOJALIL:

1. 3amonro 10 Hamel 3pbl

1. A technology known throughout Europe

2. B nauase CPCAHCBCKOBbS

2. In the end of disposal




3. N3BectHas Bo Beell EBpome TexHOIOrus

3. Itis also objected

4. Ilpomomxaer 3aHUMATh [IEHTPATHHOE MTOJI0KEHUE

4. Not to be still fully competitive

5. Byagyun MUpOBBIM JHIEPOM B UEM-TO

5. Long before the current era

6. 3HauuTeNbHAsA YaCTh HALIMOHAJIBHBIX IOTPeOHOCTEN
B JIEKTPUYECTBE

6. In early medieval times

7. JIonrocpoyHOE penicHre

7. To continue to have a central position

8. B monrocpo4Hoi nepceKTuBe

8. Being the world leader

9. Emte He OBITH /10 KOHIIA KOHKYPEHTHO CIOCOOHBIM

9. In the long run

10. Tax)xe BBIIBUTAIOTCSI BO3PAKEHUS

10. The only long-term solution

11. KoHeyHblif MyHKT Ha3HAYCHUS

11. A significant part of a nation’s electricity
requirements

12. umeTh COOCTBEHHBIE 3aIachl YIS

12. quite a bit of energy to be produced

13. yioBneTBOpUTH TPeOOBAHUS

13. to have own coal supply

14. He TONBKO W3-32 KAKMX-TO 3CTCTHUCCKUX
C000pakeHUH

14. not only will there be few if any esthetic problems

15. nanpHelIee HCTIOTB30BAHUE YIS

15. continued use of coal

16. 1OCTaTOYHO MaJI0 PHEPTHH ISl IIPOU3BOJICTBA

16. the requirements are to be met by

17. B3r1s1HYB Ha paCUIMPEHHBII pACYET CTOUMOCTH
SHEPTUU

17. going over the extended energy account

[Tpe3enTanus [ToAroTOBUTE MpE3CHTALIUIO 110 BUAeOMaTepuaiaM «I 100anpHOE MOTEIICHHEY, «3arpsi3HeHne BO3ayXa U
BOJIBI»
3ananue EXECISE 1

Haiianre S5KBHBAJICHTEI B TEKCTE:

- OBITH BBI3BAaHHBIM PSIJIOM JIPYTHX MPHYHH,
HCTOPUYECKH CIIOKHUTHCS,

OTKa3 OT JaJIbHEHIIIETr0 HCIOJIL30BaHMS,
CHCTEMa MECTHOTO OTOILICHMUS,

He OBITE 0OJIBIIIE 3aBUCUMBIM HACTOJILKO,
CUCTeMa IIEHTPATN30BaHHOTO OTOTUICHHS,
JIA3ENIBHOE TOIUIMBO C HU3KUM COJIEPKAHUEM CEPBI,
OTMEYEHHBII POCT,
3aMEeUINTh CHUYKEHUE BBIOpOCA YaCTHII,
CrieraIbHast TUTepaTypa,
M300MIIOBaTh CIIOpaMH,




CTEINEHb 3HAUMTEIBHOCTH 3aKOHOIaTeILCTBA,
He OBITh B COCTOSIHHH 3a(pHKCHPOBATD,
OBLTO OBI CTIPaBEITUBO OTMETUTb.

EXECISE 2

OtBeTbTE HA BONPOCHI:

1. When have we understood how dangerous air pollution is?

2. What two main problems do we have today?

3. Where do air particles come from?

4. What measures have been taken recently to reduce particle levels?
5. Did these reduction efforts turn out to be efficient?

EXECISE 3

CornacHbl JIU BBI € KPaTKUMH BBIBOJAMH IO COACPIKAHUIO MPCABIAYIIETO TEKCTA:

O Unfortunately, the myth of forests killed by acid rains lives in many places.

! It is stated quite casually how personal health problems are turning into public environment issues.

[ It is simple to write,, Sulfur in the atmosphere produces acid rain. Acid rain kills forests. But not borne out by the
evidence".

EXECISE 4
CocTtaBbTe (hpa3bl, COOTBETCTBYIOIINE COIEPKAHHUIO TEKCTA!
1. The National Acid Precipitation Assessment the world“s biggest, longest and most expensive
Program (NAPAP) became the world"'s smallest, shortest and cheapest
the world*s biggest and cheapest.
2. The National Acid Precipitation Assessment most of a decade.
Program (NAPAP) spanned most of the century.
most of the month.
3. The National Acid Precipitation Assessment about 700 scientists and cost one thousand dollars.
Program (NAPAP) involved about 700 scientists and cost half a billion dollars
about 100 scientists and cost half a billion dollars.

4. The trees were cultivated in poor soil in order to maximize any negative effects of
relatively rich soil the acid rain.

average soil
5. The seedlings from three species of trees were exposed to various concentrations of acid




of animals rain over a period of almost three years.
of flowers

Pedepar

Tematuka pedeparon: O630p nuTEpaTYphl Ha AHTITUICKOM SI3BIKE IO TEME HaYYHO -UCCIIEIOBATEIbCKOM
paboTHI.

KonrponsHas padboTa

KonTponsHas paboTa o Teme « JHepTush»

. IIpouuTaiiTe N NepeBequTe TEKCT (YCTHO).
SOLAR ENERGY
Solar power, also known as solar energy, is the technology of obtaining usable energy from the light of
the sun. Solar energy has been used in many traditional ways for centuries, and has come into widespread use where
other power supplies are absent, such as in remote locations and space. Solar energy has a number of applications
including
» Heat (hot water, heating building, cooking)
« Electricity generation (photovoltaic, heat engines)
+ Desalination of sea water
Solar power is an extremely clean way to generate electricity. There are no air emissions associated with operation of
solar modules. Photovoltaic, solar water heating systems reduce power generation from traditional sources and
associated environmental impacts.
I1. Bei0epuTe npaBUILHBINH BAPHAHT 0TBETA HA BONPOCHI K TEKCTY.
1. How could “solar power” be defined?
a) “non-renewable” source of energy
b) the technology of producing energy from the sun light
c) power engineering dealing with conventional systems consuming fuel
2. What is solar power used for?
a) heating buildings and generating electricity
b) only for heating domestic water
c) electricity production in the northern countries with long-lasting winters
b) 25-30
3. What advantage can be taken of the solar energy application?
a) to reduce the expenditures on fossil fuels extraction
b) to be a good alternative to a wind power
¢) to have a bad impact on the environment
11. 3axkoHUMTE MPeNIOKEeHHsI M0 COAEPKAHUIO MPOYNTAHHOTO TEKCTA.
4. One of the reasons to install a solar thermal system is
a) to cut the installation costs
b) to decrease the service life of the heating system
c) to increase water heater operation life




5. Solar power is the best way .

a) to solve health problems b) to reduce CO2 emission c) to generate electricity
6. The prices of fossil fuels are expected in the nearest future.

a) level off

b) to fluctuate

c) to go up sharply

1V. Iloa6epurte IKBHBAJIEHT K AAHHOMY PyCCKOMY CJIOBY MJIH CJIOBOCOYETAHUIO .

7. NOCTOMHCTBO, MPEUMYIIECTBO, 3aciyTra

a) merit  b) quality c) guaranty

8. BrIpabOTKa/TIPOM3BOICTBO SHEPTUU

a) electricity transportation  b) energy distribution c) power generation

9. HaC4YUTHIBATh, COCTABJIATH

a) to average

b) to take into account

c) to account for

10. ymeHbIIATh, MOHMKATH

a) lower b)low c) low-down

11. Tekymme pacXopl, IKCILTyaTaI[HOHHBIC U3EPIKKU

a) business expenditures b) running costs c) labour costs

12. cBs3aHo ¢, TpedyeT

a) toincur b) to occur ) to want

13. rcKonmaemMoe TOILIMBO

a) nuclear fuel b) fossil fuel c) liquid fuel

V. Bbi0epuTe COOTBETCTBYIOLIEE ONpe/ie/ieHue JaHHbIM CJI0BAM U TEPMHHAM .
14. gas that stops heat from escaping into atmosphere an causes global warming
15. the production of electricity in a particular area or place

16. an effect or influence

17. equipment that is usually used or has been in use for a long time

18. the period of time the heater is likely to operate

19. something that exists or happens over a large area, or to a great extent

20. to extract or obtain minerals from the ground by digging deep holes or tunnels
21. money spent by a business on buying equipment, buildings and etc.

worldwide

VI. lIpounTaiiTe npeaJioKeHusl U YKaKUTe COOTBETCTBYET JIM IAHHOE YTBep:KIeHne 1eHCTBUTEJbHOCTH:
22. Solar cells can be used in remote areas where there are no power transmission lines.

23. Solar energy can be applied for sea water desalination.

24. 1t costs too much to maintain solar collectors, so it takes a long time to make profits from investments.

VII. BoiOepuTte npaBu/IbLHYI0 BUAOBPEMEHHYI0 ()OPMY IJ1aroJia.




25. Britain ............ for a new form of energy in recent years.

26. The British usually ......... fossil fuels and ......... nuclear stations.

27. Wind power ............ as an alternative source of energy in Holland for many years.
28. In a few years Britain ...... completely ....... the advantage of wind power.

29. At present they ............ two wind turbines.

VIII. 3anoaHuTe NPONYCKH NMpelJIoraMHu.

30. Since conventional water heaters are in use, greenhouse gas emissions account .... 70%.
31. Alternative energy sources are coming ..... everyday use.

32. It is important to differentiate ...... renewable and non-renewable sources of power.
IX. 3anoHuTe NPONyCKHU NpUJIAaraTeJbHbIM HJIM HapedueM B Hy:KHOi ¢opme.

33. How ........ power is supplied by nuclear plants in your country?

34, Britain is one of ......... countries in Europe.

35. Thereare ....... wind farms in Britain than in Denmark.

2. MeTtoanueckue yKka3aHusi 1o npoueaype oueHnBaHUA

OueHoYHbIe MEePONPHSATHSI

ITponeaypa npoBeeHHsl OLIEHOYHOI0 MEPONPHATHSI H He00X0AMMbIe METOAMYeCKHEe YKA3aHHsI

1. Tect

CTyIeHTHI BHIIOTHSIOT TECTOBBIC 3aMaHus. [IpemogaBaTens mpoBepseT BHITOIHEHHbBIE Pa0OTHI U
BBICTABJISICT OLEHKY. [Ipy BBICTABJIEHUMU OLIEHKU YUYHUTHIBAETCS KOJMYECTBO BEPHBIX OTBETOB.

2. [Ipe3enTanus

CryneHThl TOrOTAaBIMBAIOT MPE3EHTAIINIO HA 3a/laHHYI0 TeMy. [IpenogaBartens oneHnBaet paboTy Haj
MPE3EHTALMEN IO CIEAYIOLIMM KPUTEPHUAM: KQUECTBO U MTOJHOTA BBIITOJIHEHUS, CTEIICHD
CaMOCTOSITENIbHOCTHU CTYJICHTa U COOJII0ICHUE CPOKOB BBIITOJIHEHUS pa0OThI, COOTBETCTBHE MPE3EHTAIIUN
TpeOOBaHUAM 110 0OPOPMIICHHUIO, KA4eCTBO 0(DOPMIICHHSI MPE3CHTAIIMH, KAYECTBO OTBETOB HA BOMPOCHL.

3. 3aganue

CTy,Z[CHTBI BBIITOJIHAIOT 3aJaHUA HAa MPAKTHYCCKUX 3aHATHUAX B COOTBCTCTBUU C Tpe6OBaHI/IHMI/I.
HpenonaBaTenb OLCHUBACT pa60Ty 110 CJICAYIOIUM KPUTCPUAM: KAaYCCTBO U IMOJTHOTA BBIITOJIHCHHA
3aJlaHus, CTCIICHb CAMOCTOATCIIBHOCTH CTYJICHTA U CO6J'II-OI[€HI/IC CPOKOB BbIIIOJIHCHUS pa6OTBI, )
COOTBCTCTBHUEC OTUYCTA Tpe6OBaHI/I$IM I10 O(bOpMJ'IeHI/IIO.

4, Pedepar

CryIeHTsI IOArOTABIMBAIOT pedepar Ha 3apaHee BblIaHHYI0 TeMy. [IpernoiaBaresb olieHuBaeT padboTy
HaJ pedepaToM 10 CICAYIONIMM KPUTEPUSIM: KAYECTBO U MOJHOTA BBITIOJHEHHUS, CTETICHb
CaMOCTOSITEIILHOCTH CTYJICHTAa M COOJIIOJICHUE CPOKOB BBIITOJIHCHUS pa0OThI, COOTBETCTBUE pedepara
TpeOOBaHUSM MO 0(hOPMIICHHIO, KaueCTBO odopMiIeHUs pedepaTa.

S. KonTponbHas pabora

CtyaeHTBI BBITIOJIHSIOT 3a/laHUe 110 KOHTPOJIbHOU pabdoTte. [IpenonaBaTens mpoBepsieT KOHTPOJIbHYIO
paboTy u BBICTAaBISET OlleHKY. KoHTpobHAs paboTa OIIEHUBAETCS TIO CICTYIOIIMM KPUTEPUSIM:
KauyeCTBO U MOJIHOTA BHITIOJTHEHUS 3aJaHHsI [0 KOHTPOJIBHOU padoTe, CTENeHb CAaMOCTOSITETbHOCTH
CTYJICHTA.







